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I 21 mwn: status of a tree which straddles the border of v9pn Py
a If tree is planted inside and branches outside or vice-versa; location of branch determines status
b Challenge: in re: w"yn, it follows air space
i Disanalogy: w"yn is about the walls = imaginary line follows wall
1 But: v5pn my is about residence; only the branch is inhabitable
ii  mote: contradiction from ®n»1a re: 7WYn, which is treated same as vVopn MY (follows branch)
1 resolution: follows N’ "1, who rules that a cave’s location is determined by its opening and a tree by its 91
(a) challenge: "M ’7’s position is only X% which works vis-a-vis v"yn in both directions
(i) trunk insde: cannot eat without redeeming (considered outside)
(i) trunk outside: cannot redeem (once in city, may not redeem v”yn)
(b) but: there is no double-sided ®1mn vis-a-vis vVopn »Y
2 answer (¥37): all agree that he may not be killed while on trunk (if insde)
(a) And: all agree that if he is in branch and 7”m3 can kill him with arrows or rocks — he may
(b) Dispute; in case trunk operates as steps to (home in)branches
(i) /i 77 steps are considered part of the branch-house (may not kill him, even if trunk outside)
(if) p’pom. steps are not considered part of the branch-house
II  3r mon: exiling a resident of vV5pn MY
a  If he was a killer (and may not leave), is exiled to a different neighborhood
b If:heis an% 11 (who lives there), he is exiled to another n™5n vy
i Source:v.1 addressed to nwn; his place will serve (12111) as Vopn = MY 12 goes to another part of 1Y mnn
1 And:if he goes to his own neighborhood, it protects him
(a) Source: v.2 —10%n (where he’s been exiled) protects him
I n mwn: honor for the N1
a  If: the citizens of vV9pn Y wish to honor him, he must first state that he is a killer
b Then: if they insist “nonetheless”, he may accept their honor
i Source:v.3 —nx1n 727 (speech; note parallel with n:>» n»aw — n2avd NVYNY)
¢ Paying rent:
i A7mm 1 must pay
ii 2”7 no payment
1 71 dispute is only in 6 main v5pn »y; how to interpret v. 4; is 2% for all needs, or just protection
(a) But: all agree that they must pay rent in other 42 n»mbn »y
(b) Challenge (X¥37): 03% certainly makes it fully owned for needs of n'n¥11 — rather...
2 Na7 dispute only in 42 cities; whether o’y (v. 5) means that they also protect, or completely the same
d  Resoration to previous honor:
i »”1he may return to his previous noble position
ii 777 7 he returns to his family estate, but not to his previous noble position
1 Parallel dispute: in re: ¥ 72y returning at %av (v. 6)
2 Application (for n79): via 2197::200 (VVv. 2, 6)
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